Jole Lo (30 (Slro (35031 Fmly

So slooslom o)las s Lesdiiue 158l csn 4 gl oo 2] (g3le paiile SO o 4 ole piw
sl Slez 1,8 5l oolaiul b g w1 s yiwsd ot golivo 5 |58l 4y pudiinns O yg0 4 50 Jole ptuns

i plosl Jl38len g, oLk 350 Slilas b oS Caslgs 5 Jole itmns 31 0135 o codimes

ol sl 5l abasd SO o (easslo sla-Register cuxog o) ojls G galasl> &lgime «Core dumpy
—4_40[.)).: cDebugger &_: .E.M)}: QT ) l_: el d_u..oy J..:LS ;i: 3o |) QT JALQ (i aS cML}GA o)b).:
S Uz e 50 (andy Comog g Lo pite jlade JUe 1) o5l galadl> gosalie b Wil g oo oy

O3S Lol L s g Wgh oo (s3lwesly 2,8 slad slaosloy jo Jole prtnn (loidn 5l (6 e (]
ez Lo o)las i (b (639, 4v 5 i & 3l Glusloly Se M) Jole pitans 40 o2y
2o JBil 9929 &jg0 o gl go 2] 218 (gliad (glaoslay jo ele s 51 (g0l Coond oSG
sl Jole ptis slocand plu gl JASCis aols uu)oi slad o5 o 4 axgi b daoylo,y ol 5
L lojloy ol casloads g3lwosly Jglate slaoyloys jo Jole pitww calize sla jidu o9z (7 209 s0d

Dyl 4295 BB b aS as)lo bls )l oo L (Message passing) sl Jols 5l ool

s 31 (6005 gl s L 5 S ,Sie aulien (W] asS o oolaswl o Jg5le 5l as” Jole slapinen ;o
g a8linl Ly wigds 0010 st cdtd s a4y 5L en alSlgl ce aS Wigd oo (gilwooly Lo Jg5le o Jule
5 iy S5 IS 925 0 3 il lsme oyl 5L Lo Iyl 5 <l 85,50 DS (o
0 & ol s gl slaceand (197 (g 255 00 8 5 o8 Jole i IS ¢ Jole e

3,05 9925 sl 5o Lo 15,55 ,Se 55 9290 (5l )Ly 50 bl v b ppdisins



Sg-is oo Eaell a5 0US o ol laiByg WS o (i Jule piaw a5 oloosl jo Timer b 4y caelad
Jeole s o 0L Ll (Kernel space) asws glias 4y (User space) IS glad 5l sasslo

cules Sl 1zl gl Ly o550 (g3l pmlS glimbd & JUasl s wilgs

(05" ads ;0 Loal (s yoll 35 4 ao g5 L) cal gl-Tork() Sl golos cojloy ,o ol J51s slacl

] 00 Q‘ o as-lw g0 aS

sools 5l isn oaisles goaslon aS Sloy ) odiwnss (sojlop gl 5y alg) (Buffer) 3L aS" 5)s0 5o
B) sassles gojlo, cails algd 8L 1o slosls a5 g0 yo 0,5 o I8 Blocking cdl> jo (wilgsy | alg)

ijsc 1,8 Blocking el o (g dlgd jo 1y glools onisgr gojlo oS e

3929 b Joole mitucrw aolio plasl 5l mole a5 008 o Sgumee |y ouds oolaiwl sla Loy olaws ,iSTas (I
gl oo as b il )0 )b G lonn ) (olasi aSil @ az g3 L (0 09 oo (ylojad gatubog ok olass
4235 L (g b G2l Loy lons; il )l 5 090 il Slizme (ylows; g 50 (6l o o3Y
okl )8 6l Laglon; szl o i S cod o pie |y o Loy pdine & j0 0 )15 a5l &,

D9 s

ee il Sg2rg0 od3jlo s diz 45 e 4 gl it ol glite ol lonas, 5 colizal L asl gl
Q)sao O ».\.s‘s_ssc Jlﬁ.u‘ J.o.c MSU..»)‘ osld Jlﬁ.u‘ 6‘)" cdS.J ra9o 09..»‘50 \Dl?U‘ 6)'5"° Q)e..c L 6)&]‘)
s JU] 355 e (4 31 26 Sl 51, Lol ol 51 55 o Block 5 355 plasl 515

00,5 oo il (6, K550, 5 Lo Lo



@ (pgo 9 Jol lom)) Gl 90 Lawwgs found() @b g ool jao (gl o 90 (gadgl oo 0uiS™ 2 8
e § 99 >l gl ylowasy jo ¥ das B lawl 51 048 00y lows found(1, 2) g found(1, 3) & jao 4 o5
».LQ'P 9o beSt_COSt )‘A.O.a A2 dails |) .)9.> 6‘)‘7" Je‘ uLo.w.:) UT )l o9 S ‘).‘>| |) éﬁLa JS P9 uLo.w.:)

el 03¢ duw C)i Cewyd )ld..ﬁ.c 4\56_:)94.9 o) W)

1 void found(int node, int cost)
2 {

3 if (cost < best_cost) {
4 best_cost = cost;

5 best_node = node;

6 }

7 '}
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Monitor StarvationFreeRWLock {
condition rcond; // for waiting readers

condition wcond; // for waiting writers
int rwaiting, wwaiting; // number of waiting readers and writers



int rcount, wcount; // number of current readers and writers

read lock () {
if (wwaiting + wcount > 0) ({
rwaiting++;
rcond.wait ();
rwaiting——;
}

rcount++;

}
write_lock () {
if (wcount + rcount > 0) {

wwaiting++;
wcond.wait () ;
wwaiting—--—;
}
wcount++;
}
read_unlock () {
rcount—-—;
if (rcount == 0 && wwaiting > 0)
wcond.signal () ;
}
write_unlock () {
wcount——;
if (rwaiting > 0) {
int i, n = rwaiting;
for (i = 0; i < n; i++)
rcond.signal();
} else {
wcond.signal () ;

}



